ACADEMIC CONNECTIONS
Mathematics

Middle School Connections in Agriculture Education

Name____________________________________ Period____ Date______________
Growth is important to producers because animals can only be sold when they reach a certain size.  Producers want to make a profit from the animals they sell, so they want their animals to grow rapidly. Part of getting an animal to grow is furbishing the animal enough food.  Do the word problems below to see how much feed animals need.

1).  If one cow eats 20 pounds of hay a day, how many pounds of hay will it eat in one year?  (Hint:  1 year = 365 days)
2).  If one cow eats 20 pounds of hay a day, how many tons of hay will it eat in one year? (Hint: 1 ton = 2,000 pounds) 

3).  If one cow eats 20 pounds of hay a day, how many pounds of hay will 100 cows eat in a day?
4).  If one cow eats 20 pounds of hay a day, how many pounds of hay will 100 cows eat in a year? (Hint:  1 year = 365 days)


5).  Mary Jane has 200,000 pounds of hay.  If one cow eats 7300 pounds of hay in one year, does she have enough hay to feed 28 cows for a year? 

Answers: 

1).  7300 pounds; 20 pounds = x pounds   x = 20 x 365
x = 7300 pounds





1 day 

  365 days

2).  3.65 tons; Already know from previous answer that 1 cow eats 7300 pounds a year so convert pounds to tons.  1 ton = 2000 pounds so 
2000 pounds = 7300 pounds    












1 ton

x tons

2000x = 73000   
x = 7300 / 2000   
x = 3.65 tons

3).  2000 pounds;  20 pounds x 100 cows = 2000 pounds or 

20 pounds = x pounds

x = 20 x 100 
x = 2000 pounds

1 cow

   100 cows

4).  730,000 pounds; Already know from previous answer that 100 cows will eat 2000 pounds of hay a day so-

2000 pounds = x pounds
x = 2000 x 365
x = 730,000 pounds

1 day


365 days

5).  No; Reason- 7300 pounds = x pounds
x = 7300 x 28

x = 204,400 pounds 





1 cow


28 cows

She needs 204,400 pounds but she only has 200,000 so NO she does not have enough.
